NEC /

PNP SILICON POWER TRANSISTOR

2SA1396

DESCRIPTION  The 2SA1396 is PNP silicon epitaxial transistor designed for switch- 1
ing regulator, DC-DC converter and high frequency power amplifier PA(.:KA.G!E DIMENSIONS
in millimeters (inches)
application.
FEATURES ® Easy mount by eliminating Insulation Sheet and Bushing.
® Low Collector Saturation Voltage. tos wax 7 MAX
® High Switching Speed. - : (0.185)3‘0 A,
e Compl 25C3568 e AL
omplementary to 2S . mﬂ
ABSOLUTE MAXIMUM RATINGS
]
Maximum Temperatures 33 L
Hwo
Storage Temperature . . .. ........... —565t0+150°C | &
Junction Temperature . ............ 150 °C Maximum
'Maximum Power Dissipation (T, =25 °C) 5
Total Power Dissipation .. .......couovevuenn. 30 W R 5,10 Eg
w
Maximum Voltages and Currents {T,=25 °C) mS
V B ltage ......... —
cBO Collector to Base Voltage 100 V 08401 ror—beroul |2stos
Veeo Collector to Emitter Voltage . . .. ... —100 v | @030 (10'::))2 (0020 [(0098)
. 2.54 :
i 0.059)
VeBo Emitter to Base Voltage . . ........ -70 V on (%6514)
lcipc) Collector Current (DC) . ......... -10 A . ’
T 1B
Ic(pulse) Collector Current (puise)” ... ..... -20 A 2 Collector
Ig(pc) BaseCurrent(DC) ............. -50 A by O Emiver
* PW =< 300 us, Duty Cycle < 10 %
ELECTRICAL CHARACTERISTICS (T, =25 °c)
SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT. TEST CONDITIONS
fon ;:’"*’":_ime ‘1’2 ks <lc=—5.0 A,lgy1=—lg2=—05 A
tstg orag.e ime B us R L= 10 .Q, Vcc=50 v
tf Fall Time 05 us
hEE DC Current Gain** 40 200 - VCg=-5.0V,ic=—05A
hfg2 DC Current Gain** 40 200 - Vecg=-5.0V,Ic=-3.0A
hre3 DC Current Gain** 20 - Veg=-5.0V,Ic=—5.0A
VCE (sat) Collector Saturation Voltage** —0.6 \" Ic=—5.0A,lg=—05 A
VBE (sat) Base Saturation Voltage** -15 v lc=-5.0A,Ig=—05A
Collector to Emitter Sustaining
- =5 Ig=—05A, L=
VCEO (SUS) Voltage 100 A Ic=—5.0A,lg=—05A,L=1mH
Collector to Emitter Sustaining _ Ic=—50A,1lg;=—Ig2=-05 A, T,=125°C,
Veex (susit Voltage 100 v L =180 uH, Clamped
Collector to Emitter Sustaining Ic=—10A,lg1=—10A,—1B2=05 A,
VCEX (SUS)2 yitage —100 v L =180 uH, Clamped
IcBO Collector Cutoff Current -10 uA Vgg=—100V,ig=0
ICER Collector Cutoff Current -1.0 mA VCe=—100V, RBg=51£,T;=125 °c
IcEX1 Coliector Cutoff Current —-10 BA Vge=—100V, VBe(OFF) =15V
IcEX2 Collector Cutoff Current -10 mA VCe=—100V, VBg(OFF) =15V, Ta=125 °C
IEBO Emitter Cutoff Current —-10 BA VEg=-50V,Ic=0
N #**pW < 350 us, Duty Cycle <2 %
Classification of hpga
Rank M L K
Range 40 to0 80 60 to 120 10010 200 | yoet Conditions: Veg=-50V,lc=—~30A
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TYPICAL CHARACTERISTICS (T, =25 °C)
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COLLECTOR CURRENT vs.
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SWITCHING TIME (ton, trg, t) TEST CIRCUIT

RL=10Q

= PWI-_ lB1_

‘ ] TUT

VIN

PW=50 us
Duty Cycle<2%
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IVCc—'—: -50 V
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tstg tf



